| Efficiency vs Dxy |
0.2
<

5 A
B S A S A
< T
@.16:—----§------€ ------- R ROt AEEE Ay AR
> N R A S A () I I
K e A
© o : : : :
O e S A 1
P S S il .
0,08 L
006

...........................

008 e

T
T

002 WA

o Qpkdodin bt oo b,
s F i
x

N N N N \ N
T 1118

o6five il

_JBE20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—— —V0001"R0O00000001—Global—]
—— DOM”V0001"R000000001" Global |

| Efficiency vs Dz |

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

—_—_D

MKETI0000 _RECO
mKkFit1000 "RECO

mkFit1000ATime_RECO

—V0001~"R000000001Global——mkFit1000CTime"_RECO

—mkFit1000MTime_RECO

M_V0001_R000000001 Global
_50.05 : :

$045
co 04
ans
0.03
0.025
0.02
0.015
0.01
0.005

b

0.8

Ratio

2030
TP dz (cm)

0.6t




	Contents
	Page 1


